Oscillation Criteria for Even-order Half-linear Functional Differential Equations with Damping

Shouhua Liu^{*1}, Quanxin Zhang², Li Gao³

Department of Mathematics and Information Science, Binzhou University, Shandong 256603, People's Republic of China *Corresponding author, e-mail: I3169207@163.com¹, 3314744@163.com², gaolibzxy@163.com³

Abstract

In this paper, a class of even-order half-linear functional differential equations with damping is studied. By using the generalized Riccati transformation and the integral averaging technique, six new oscillation criterias are obtained for all solutions of the equations. The results obtained generalize and improve some known results.

Keywords: oscillation criteria, damping, half-linear, functional differential equation, integral averaging method

Copyright © 2014 Institute of Advanced Engineering and Science. All rights reserved.

1. Introduction

In this paper, we consider the oscillatory behavior of solutions for the n-th order halflinear functional differential equation with damping of the form:

$$\frac{\mathrm{d}}{\mathrm{d}t} \Big[r(t)\Phi(x^{(n-1)}(t)) \Big] + p(t)\Phi(x^{(n-1)}(t)) + f(t, x(g(t))) = 0, \quad t \ge t_0.$$
(1)

Where *n* is even, $\Phi(u) = |u|^{\alpha-1} u$, α is a real number and $\alpha > 0$. For simplicity, we note :

I = $[t_0, \infty)$, R⁺ = $(0, \infty)$, R⁰ = $[0, \infty)$.

Throughout this paper, we assume that:

- (H₁) $r(t) \in C^1(\mathbf{I}, \mathbf{R}^+), r'(t) \ge 0, p(t) \in C(\mathbf{I}, \mathbf{R}^0)$.
- (H₂) $g(t) \in C(\mathbf{I}, \mathbf{R}^0), g(t) \ge t, g'(t) \ge 0, \lim_{t \to \infty} g(t) = \infty$.
- (H₃) $f(t,x) \in C(I \times R, R)$.

In order to discuss conveniently in the following context, several definitions will firstly be given.

Definition 1. The function $x(t) \in C^{n-1}([T_x, \infty), \mathbb{R}), T_x \ge t_0$ is called a solution of (1), if $r(t)\Phi(x^{(n-1)}(t)) \in C^1([T_x, \infty), \mathbb{R})$ and x(t) satisfy (1) on an interval $[T_x, \infty)$.

Definition 2. A nontrivial solution of (1) is said to be oscillatory if it has arbitrarily large zeros; otherwise, it is called nonoscillatory. (1) is said to be oscillatory if all its solutions are oscillatory.

Very few people have studied the oscillatory behavior of even-order half-linear functional differential equations with damping. So, much research, especially some on the Philos oscillation criteria of (1) and the other related results, will be done in this paper by referring to [1-8]. Moreover, functional inequalities in this paper hold for all sufficient large t if there is no special explanation.

4882

2. Main Results

The following lemma is a well-known result; let us see [1, Lemma 2.2.1] and [2].

Lemma 1. Let *u* be a positive and n-times differentiable function on an interval $[T,\infty)$ with its n-th derivative $u^{(n)}$ non-positive on $[T,\infty)$ and not identically zero on any interval of the form $[T,\infty)$, $T' \ge T$. Then there exists an integer $l, 0 \le l \le n-1$, with n+l odd and such that for some $T^* \ge T'$:

$$(-1)^{l+j}u^{(j)} > 0, t \in [T^*, \infty), \quad (j = l, l+1, \dots, n-1);$$

$$u^{(i)} > 0, t \in [T^*, \infty), \quad (i = 1, 2, \dots, l-1), \text{ when } l > 1.$$

Lemma 2 [8]. Assume that x(t) satisfies all the conditions in Lemma 1 and $x^{(n-1)}(t)x^{(n)}(t) \le 0, t \ge t_x$; then there exists constants $\theta \in (0,1)$, and M > 0 such that:

 $x'(\theta \ t) \ge Mt^{n-2}x^{(n-1)}(t)$,

For all sufficient large t.

Theorem 1. If the following conditions are true:

$$(\mathsf{H}_4) \int_{t_0}^{\infty} [E(t)r(t)]^{-1/\alpha} dt = \infty$$
, where $E(t) = \exp \int_{t_0}^{t} p(u)r^{-1}(u) du$;

(H₅) Suppose that there exists $q(t) \in C(I, \mathbb{R}^{0})$, $F(x) \in C(\mathbb{R}, \mathbb{R})$ such that:

$$f(t,x)$$
sgn $(x) \ge q(t)F(x)$ sgn (x) , $-F(-x) \ge F(x) \ge k |x|^{\alpha-1} x$,

Then $\alpha > 0, x > 0, k > 0$;

 $(\mathsf{H}_{6}) \limsup_{t\to\infty} \int_{t_{0}}^{t} E(s)q(s) \mathrm{d}s = \infty \cdot$

Then (1) is oscillatory.

Proof. Assume that x(t) is an eventually positive solution of (1), then there exists $t_1 \ge t_0$, such that:

x(t) > 0, x(g(t)) > 0, for all $t \ge t_1$.

From (1) and (H_5) , we obtain:

$$[E(t)r(t)\Phi(x^{(n-1)}(t))]' + kE(t)q(t)x^{\alpha}(g(t)) \le 0, \ t \ge t_1.$$
(2)

Hence,

 $[E(t)r(t)\Phi(x^{(n-1)}(t))]' \le 0, \ t \ge t_1.$ (3)

From (3) and (H₄), then there exists $t_2 \ge t_1$ such that:

 $x^{(n-1)}(t) > 0, \quad t \ge t_2$ (4)

From (4) and (1), we obtain:

$$[r(t)(x^{(n-1)}(t))^{\alpha}] \le 0, \quad t \ge t_2.$$
(5)

It follows from r'(t) > 0 that:

$$x^{(n)}(t) \le 0, \quad t \ge t_2$$
 (6)

From Lemma 1, we obtain:

$$x'(t) > 0, \quad t \ge t_2$$
 (7)

From (3) and (4), we obtain:

$$[E(t)r(t)(x^{(n-1)}(t))^{\alpha}]' + kE(t)q(t)x^{\alpha}(g(t)) \le 0, \ t \ge t_2 \ .$$
(8)

In view of x(t) > 0, x'(t) > 0, then there exists $T \ge t_2$ and $\delta > 0$, for all $t \ge T$, we have $x(g(t)) \ge \delta$. Hence,

$$[E(t)r(t)(x^{(n-1)}(t))^{\alpha}]' + kE(t)q(t)\delta^{\alpha} \le 0, \ t \ge T.$$
(9)

We get that:

$$E(t)r(t)(x^{(n-1)}(t))^{\alpha} + k\delta^{\alpha} \int_{T}^{t} E(s)q(s) ds \leq E(T)r(T)(x^{(n-1)}(T))^{\alpha}.$$

Hence, we have a contradiction to the condition (H_6) . The proof is complete.

Theorem 2. Assume conditions (H₄) and (H₅) hold, and the following condition is true (H₇) Suppose that there exists $\rho(t) \in C^1(I, \mathbb{R}^+)$, $\rho'(t) \ge 0$, and $\lambda > 0$ such that:

$$\limsup_{t\to\infty}\int_{t_0}^t [k\rho(s)E(s)q(s)-\lambda\rho'(s)]\mathrm{d}s=\infty.$$

Then (1) is oscillatory.

Proof. Assume that x(t) is an eventually positive solution of (1), proceeding as the proof of Theorem 1, we obtain (8) holds. Consider the function:

$$W(t) = \rho(t)E(t)r(t) \left(\frac{x^{(n-1)}(t)}{x(g(t))}\right)^{\alpha}, \quad t \ge t_0.$$
(10)

Then W(t) > 0, and:

$$W'(t) = \rho'(t)E(t)r(t) \left(\frac{x^{(n-1)}(t)}{x(g(t))}\right)^{\alpha} + \frac{\rho(t)[E(t)r(t)(x^{(n-1)}(t))^{\alpha}]'}{x^{\alpha}(g(t))} - \frac{\alpha\rho(t)E(t)r(t)(x^{(n-1)}(t))^{\alpha}x'(g(t))g'(t)}{x^{\alpha+1}(g(t))}$$

$$\leq \rho'(t)E(t)r(t) \left(\frac{x^{(n-1)}(t)}{x(g(t))}\right)^{\alpha} + \frac{\rho(t)[E(t)r(t)(x^{(n-1)}(t))^{\alpha}]'}{x^{\alpha}(g(t))} \cdot$$
(11)

From (3), (7), (8) and (11), we obtain:

$$W'(t) \le -k\rho(t)E(t)q(t) + \frac{\rho'(t)E(T)r(T)(x^{(n-1)}(T))^{\alpha}}{x^{\alpha}(g(T))}, \quad T \ge t_0.$$
(12)

Let
$$\lambda = \frac{E(T)r(T)\left(x^{(n-1)}(T)\right)^{\alpha}}{x^{\alpha}(g(T))}$$
, we get:
 $W'(t) \leq -k\rho(t)E(t)q(t) + \lambda\rho'(t)$.
(13)

Integrating the above from *T* to *t*, we obtain:

$$W(t) \le W(T) - \int_{T}^{t} [k\rho(s)E(s)q(s) - \lambda\rho'(s)] \mathrm{d}s \,. \tag{14}$$

In (14), let $t \to \infty$.Because W(t) > 0, we have a contradiction to condition (H₇). The proof is complete.

Theorem 3. Assume condition (H₄) and (H₅) hold, and the following condition is true (H₈) Suppose that there exists $\rho(t) \in C^1(I, \mathbb{R}^+)$ such that:

$$\limsup_{t \to \infty} \int_{T}^{t} [k\rho(s)E(s)q(s) - \frac{(\rho'(s))^{\alpha+1}E(s)r(s)}{(\alpha+1)^{\alpha+1}(\rho(s)G(s))^{\alpha}}] ds = \infty, \quad T \ge t_0 ,$$
(15)

Wherein $G(s) = \theta Mg'(s)g^{n-2}(s)$, θ, M in Lemma 2, E(s) in (H4). Then (1) is oscillatory.

Proof. Assume that x(t) is an eventually positive solution of (1), proceeding as the proof of Theorem 1, we obtain (8) holds. Consider the function:

$$W(t) = \rho(t)E(t)r(t) \left(\frac{x^{(n-1)}(t)}{x(\theta g(t))}\right)^{\alpha}, \quad t \ge t_0.$$
 (16)

Then W(t) > 0. From (8) and Lemma 2, we obtain:

$$W'(t) \le -k\rho(t)E(t)q(t) + \frac{\rho'(t)}{\rho(t)}W(t) - \frac{\alpha G(t)}{\left[\rho(t)E(t)r(t)\right]^{1/\alpha}}W^{(\alpha+1)/\alpha}(t), \quad t \ge T.$$
(17)

By using the inequality:

$$Au - Bu^{(\alpha+1)/\alpha} \le \frac{\alpha^{\alpha}}{(\alpha+1)^{\alpha+1}} \frac{A^{\alpha+1}}{B^{\alpha}}$$
(18)

Then $A \ge 0, B > 0, u \ge 0$, we have:

$$W'(t) \le -k\rho(t)E(t)q(t) + \frac{(\rho'(t))^{\alpha+1}E(t)r(t)}{(\alpha+1)^{\alpha+1}(\rho(t)G(t))^{\alpha}}, \quad t \ge T.$$
(19)

Integrating the above from *T* to *t*, we get:

$$W(t) \le W(T) - \int_{T}^{t} [k\rho(s)E(s)q(s) - \frac{(\rho'(s))^{\alpha+1}E(s)r(s)}{(\alpha+1)^{\alpha+1}(\rho(s)G(s))^{\alpha}}] \,\mathrm{d}s \,.$$

Because W(t) > 0, we have:

$$\limsup_{t \to \infty} \int_{T}^{t} [k\rho(s)E(s)q(s) - \frac{(\rho'(s))^{\alpha+1}E(s)r(s)}{(\alpha+1)^{\alpha+1}(\rho(s)G(s))^{\alpha}}] ds \le W(T) .$$
⁽²⁰⁾

Hence, we have a contradiction to the condition (H_8) . The proof is complete.

Theorem 4. Assume the condition (H₄) and (H₅) hold, and the following condition is true (H₉) Suppose that there exists $\rho(t) \in C^1(I, \mathbb{R}^+)$ such that:

$$\limsup_{t \to \infty} \frac{1}{t^n} \int_T^t (t-s)^n [k\rho(s)E(s)q(s) - \frac{(\rho'(s))^{\alpha+1}E(s)r(s)}{(\alpha+1)^{\alpha+1}(\rho(s)G(s))^{\alpha}}] ds = \infty ,$$
(21)

Where n > 1 and function E(s), G(s) is given by (H₄) and (H₈). Then (1) is oscillatory.

Proof. Assume that x(t) is an eventually positive solution of (1), proceeding as the proof of Theorem 3, and function W(t) is given by (16), we get (19) holds. From (19), we obtain:

$$k\rho(s)E(s)q(s) - \frac{(\rho'(s))^{(\alpha+1)}E(s)r(s)}{(\alpha+1)^{(\alpha+1)}(\rho(s)G(s))^{\alpha}} \le -W'(s), \quad s \ge T.$$

Multiplying two sides by $(t-s)^n$ and integrating the above from T to t(t>T), we get:

$$\int_{T}^{t} (t-s)^{n} [k\rho(s)E(s)q(s) - \frac{(\rho'(s))^{\alpha+1}E(s)r(s)}{(\alpha+1)^{\alpha+1}(\rho(s)G(s))^{\alpha}}] ds \le -\int_{T}^{t} (t-s)^{n} W'(s) ds.$$

Since:

$$\int_{T}^{t} (t-s)^{n} W'(s) ds = n \int_{T}^{t} (t-s)^{n-1} W(s) ds - W(T)(t-T)^{n},$$

We get:

$$\frac{1}{t^n} \int_T^t (t-s)^n [k\rho(s)E(s)q(s) - \frac{(\rho'(s))^{\alpha+1}E(s)r(s)}{(\alpha+1)^{\alpha+1}(\rho(s)G(s))^{\alpha}}] ds \le W(T)(\frac{t-T}{t})^n - \frac{n}{t^n} \int_T^t (t-s)^{n-1} W(s) ds = 0$$

Therefore:

$$\frac{1}{t^n} \int_T^t (t-s)^n [k\rho(s)E(s)q(s) - \frac{(\rho'(s))^{\alpha+1}E(s)r(s)}{(\alpha+1)^{\alpha+1}(\rho(s)G(s))^{\alpha}}] ds \le W(T)(\frac{t-T}{t})^n$$

Then:

$$\limsup_{t \to \infty} \frac{1}{t^n} \int_T^t (t-s)^n [k\rho(s)E(s)q(s) - \frac{(\rho'(s))^{\alpha+1}E(s)r(s)}{(\alpha+1)^{\alpha+1}(\rho(s)G(s))^{\alpha}}] ds < \infty$$

Hence, we have a contradiction to the condition (H₉). The proof is complete.

By Philos integral average conditions, the new oscillation theorems are given for Equation (1). Consider the sets:

$$D_0 = \{(t, s) : t > s \ge t_0\}, \quad D = \{(t, s) : t \ge s \ge t_0\}.$$

Assume that $H \in C(D, R)$ satisfies the following conditions:

(i) $H(t,t) = 0, t \ge t_0$; $H(t,s) > 0, (t,s) \in D_0$;

(ii) ${\it H}$ has a non-positive continuous partial derivative with respect to the second variable in $D_{_0}\,.$

Then the function *H* has the property $P(\text{Denoted as } H(t,s) \in P)$.

Theorem 5. Assume the condition (H₄) and (H₅) hold, and the following condition is true (H₁₀) $H(t,s) \in P$, and that there exists functions $h(t,s) \in C(D_0,R)$ and $\rho(t) \in C^1(I,R^+)$ such that:

$$\frac{\partial H(t,s)}{\partial s} + \frac{\rho'(s)}{\rho(s)} H(t,s) = -h(t,s) H^{\alpha/(\alpha+1)}(t,s), \quad (t,s) \in \mathcal{D}_0,$$
(22)

And,

$$\limsup_{t \to \infty} \frac{1}{H(t,t_0)} \int_{t_0}^t [H(t,s)k\rho(s)E(s)q(s) - \frac{\rho(s)E(s)r(s) |h(t,s)|^{\alpha+1}}{(\alpha+1)^{\alpha+1}G^{\alpha}(s)}] ds = \infty,$$
(23)

Where functions E(s), G(s) are given by (H₄) and (H₈). Then (1) is oscillatory.

Proof. Assume that x(t) is an eventually positive solution of (1), proceeding as the proof of Theorem 3, and function W(t) is given by (16), we get (17) holds. From (17), we obtain:

$$k\rho(t)E(t)q(t) \le -W'(t) + \frac{\rho'(t)}{\rho(t)}W(t) - \frac{\alpha G(t)}{\left[\rho(t)E(t)r(t)\right]^{1/\alpha}}W^{(\alpha+1)/\alpha}(t), \quad t \ge T.$$
(24)

Replacing *t* by *s*, multiplying two sides by H(t,s) and integrating the above from *T* to t(t>T), we get:

$$\int_{T}^{t} H(t,s)k\rho(s)E(s)q(s)ds \leq \int_{T}^{t} H(t,s)[-W'(s) + \frac{\rho'(s)}{\rho(s)}W(s) - \frac{\alpha G(s)}{[\rho(s)E(s)r(s)]^{1/\alpha}}W^{(\alpha+1)/\alpha}(s)]ds$$

$$\leq H(t,T)W(T) + \int_{T}^{t} \{ [\frac{\partial H(t,s)}{\partial s} + H(t,s)\frac{\rho'(s)}{\rho(s)}]W(s) - \frac{\alpha G(s)H(t,s)}{[\rho(s)E(s)r(s)]^{1/\alpha}}W^{(\alpha+1)/\alpha}(s) \}ds$$

$$\leq H(t,T)W(T) + \int_{T}^{t} \{ [|h(t,s)| H^{\alpha/(\alpha+1)}(t,s)]W(s) - \frac{\alpha G(s)H(t,s)}{[\rho(s)E(s)r(s)]^{1/\alpha}}W^{(\alpha+1)/\alpha}(s) \}ds$$
(25)

The right end of (25) is integrable functions for using the inequality (18), then for $t > s \ge T$, we have:

$$|h(t,s)| H^{\alpha/(\alpha+1)}(t,s)W(s) - \frac{\alpha G(s)H(t,s)}{\left[\rho(s)E(s)r(s)\right]^{1/\alpha}} W^{(\alpha+1)/\alpha}(s) \le \frac{\rho(s)E(s)r(s)|h(t,s)|^{\alpha+1}}{(\alpha+1)^{\alpha+1}G^{\alpha}(s)}.$$
 (26)

Form (25) and (26), we have:

$$\int_{T}^{t} [H(t,s)k\rho(s)E(s)q(s) - \frac{\rho(s)E(s)r(s) |h(t,s)|^{\alpha+1}}{(\alpha+1)^{\alpha+1}G^{\alpha}(s)}] ds \le H(t,T)W(T) \le H(t,t_{0})W(T).$$
 (27)

Therefore:

$$\int_{t_0}^{t} [H(t,s)k\rho(s)E(s)q(s) - \frac{\rho(s)E(s)r(s) |h(t,s)|^{\alpha+1}}{(\alpha+1)^{\alpha+1}G^{\alpha}(s)}] ds$$

= $\{\int_{t_0}^{T} + \int_{T}^{t}\} [H(t,s)k\rho(s)E(s)q(s) - \frac{\rho(s)E(s)r(s) |h(t,s)|^{\alpha+1}}{(\alpha+1)^{\alpha+1}G^{\alpha}(s)}] ds$
 $\leq H(t,t_0) \int_{t_0}^{T} k\rho(s)E(s)q(s) ds + H(t,t_0)W(T), \quad t > t_0,$

Which implies:

$$\limsup_{t\to\infty} \frac{1}{H(t,t_0)} \int_{t_0}^t [H(t,s)k\rho(s)E(s)q(s) - \frac{\rho(s)E(s)r(s) |h(t,s)|^{\alpha+1}}{(\alpha+1)^{\alpha+1}G^{\alpha}(s)}] ds \leq \int_{t_0}^T k\rho(s)E(s)q(s)ds + W(T).$$

Hence, we have a contradiction to the condition (H₁₀). The proof is complete.

If condition (H₁₀) does not hold, then we can use the following oscillatory theorem to Equation (1).

Theorem 6. Assume the condition (H4) and (H₅) hold, $H(t,s) \in P$, and the following conditions is true.

(H11)
$$0 < \inf_{s \ge t_0} \left\{ \liminf_{t \to \infty} \frac{H(t,s)}{H(t,t_0)} \right\} \le \infty$$
;

(H12) $\limsup_{t\to\infty} \frac{1}{H(t,t_0)} \int_{t_0}^{t} \frac{\rho(s)E(s)r(s) |h(t,s)|^{\alpha+1}}{(\alpha+1)^{\alpha+1}G^{\alpha}(s)} ds < \infty$, where E(s), G(s) is given by (H4) and (H8);

(H₁₃) That there exists $\varphi(t) \in C(I, R)$ such that:

$$\int_{T}^{\infty} \frac{G(s)\varphi_{+}^{(\alpha+1)/\alpha}(s)}{\left[\rho(s)E(s)r(s)\right]^{1/\alpha}} \mathrm{d}s = \infty, \quad T \in [t_{0}, \infty) ,$$

Then $\varphi_+(s) = \max{\{\varphi(s), 0\}}$; and:

(H14)
$$\limsup_{t \to \infty} \frac{1}{H(t,T)} \int_{T}^{t} [H(t,s)k\rho(s)E(s)q(s) - \frac{\rho(s)E(s)r(s) |h(t,s)|^{\alpha+1}}{(\alpha+1)^{\alpha+1}G^{\alpha}(s)}] ds \ge \varphi(T).$$

Then (1) is oscillatory.

Proof. Assume that x(t) is an eventually positive solution of (1), proceeding as the proof of Theorem 3, and function W(t) is given by (16), we get (25) holds. From (25), we obtain:

$$\frac{1}{H(t,T)} \int_{T}^{t} H(t,s) k\rho(s) E(s)q(s) ds$$

$$\leq W(T) + \frac{1}{H(t,T)} \int_{T}^{t} |h(t,s)| H^{\alpha/(\alpha+1)}(t,s) W(s) ds - \frac{\alpha}{H(t,T)} \int_{T}^{t} \frac{G(s)H(t,s)}{[\rho(s)E(s)r(s)]^{1/\alpha}} W^{(\alpha+1)/\alpha}(s) ds.$$

Let,

$$A(t) = \frac{1}{H(t,T)} \int_{T}^{t} |h(t,s)| H^{\alpha/(\alpha+1)}(t,s)W(s) ds, \qquad (28)$$

$$B(t) = \frac{\alpha}{H(t,T)} \int_{T}^{t} R(s)H(t,s)W^{(\alpha+1)/\alpha}(s)\mathrm{d}s\,,\tag{29}$$

Which,

$$R(s) = \frac{G(s)}{\left[\rho(s)E(s)r(s)\right]^{1/\alpha}}.$$
(30)

Then,

$$\frac{1}{H(t,T)} \int_{T}^{t} H(t,s) k \rho(s) E(s) q(s) ds \le W(T) + A(t) - B(t) .$$
(31)

From (27), we have:

$$\limsup_{t \to \infty} \frac{1}{H(t,T)} \int_{T}^{t} [H(t,s)k\rho(s)E(s)q(s) - \frac{|h(t,s)|^{\alpha+1}}{(\alpha+1)^{\alpha+1}R^{\alpha}(s)}] ds \le W(T).$$
(32)

From (32) and (H₁₄), we have:

$$W(T) \ge \varphi(T), \quad T \in [t_0, \infty),$$
 (33)
And,

$$\limsup_{t \to \infty} \frac{1}{H(t,T)} \int_{T}^{t} H(t,s) k \rho(s) E(s) q(s) ds \ge \varphi(T) .$$
(34)

Joint (31) and (34) to produce:

$$\liminf_{t\to\infty} [B(t) - A(t)] \le W(T) - \limsup_{t\to\infty} \frac{1}{H(t,T)} \int_T^t H(t,s) k\rho(s) E(s)q(s) ds \le W(T) - \varphi(T) < \infty.$$
(35)

We claim that:

$$\int_{T}^{\infty} R(s) W^{(\alpha+1)/\alpha}(s) \mathrm{d}s < \infty .$$
(36)

Otherwise, if:

$$\int_{T}^{\infty} R(s) W^{(\alpha+1)/\alpha}(s) \mathrm{d}s = \infty \,. \tag{37}$$

From (H11), then there exists $\eta > 0$ can be used in:

$$\inf_{s \ge t_0} \left\{ \liminf_{t \to \infty} \frac{H(t,s)}{H(t,t_0)} \right\} > \eta > 0.$$
(38)

Let $\mu > 0$ be an arbitrary constant from (37), then there exists $T_1 > T$ can be used in:

$$\int_{T}^{t} R(s) W^{(\alpha+1)/\alpha}(s) \mathrm{d}s \ge \frac{\mu}{\alpha \eta}, \quad t > T_{1}.$$
(39)

Thus,

$$B(t) = \frac{\alpha}{H(t,T)} \int_{T}^{t} R(s)H(t,s)W^{(\alpha+1)/\alpha}(s)ds = \frac{\alpha}{H(t,T)} \int_{T}^{t} H(t,s)d[\int_{T}^{s} R(u)W^{(\alpha+1)/\alpha}(u)du]$$

$$= \frac{\alpha}{H(t,T)} \int_{T}^{t} [\int_{T}^{s} R(u)W^{(\alpha+1)/\alpha}(u)du](-\frac{\partial H(t,s)}{\partial s})ds \ge \frac{\alpha}{H(t,T)} \int_{T_{1}}^{t} [\int_{T}^{s} R(u)W^{(\alpha+1)/\alpha}(u)du](-\frac{\partial H(t,s)}{\partial s})ds$$

$$\ge \frac{\mu}{\eta H(t,T)} \int_{T_{1}}^{t} (-\frac{\partial H(t,s)}{\partial s})ds = \frac{\mu H(t,T_{1})}{\eta H(t,T)}, \quad t > T_{1}.$$
(40)

From (38), then there exist $T_2 > T_1$, can be used:

$$\frac{H(t,T_1)}{H(t,t_0)} \ge \eta, \quad t > T_2 .$$
(41)

Joint (40) and (41) to produce:

 $B(t) \ge \mu, \quad t > T_2 \; .$

For $\mu > 0$ is arbitrary then,

$$\lim_{t \to \infty} B(t) = \infty .$$
(42)

Consider next sequence $\{t_n\}_{n=1}^{\infty} \subset [t_0, \infty), \lim_{n \to \infty} t_n = \infty$, can be used in:

$$\lim_{n\to\infty} [B(t_n) - A(t_n)] = \liminf_{t\to\infty} [B(t) - A(t)].$$

From (35), then there exists *M* can be used in:

$$B(t_n) - A(t_n) \le M$$
, $n = 1, 2, \cdots$. (43)

From (42),

$$\lim_{n \to \infty} B(t_n) = \infty .$$
(44)

From (43), we have:

$$\lim_{n \to \infty} A(t_n) = \infty .$$
(45)

From (43) and (44), when *n* is sufficiently large, we have:

$$\frac{A(t_n)}{B(t_n)} - 1 \ge -\frac{M}{B(t_n)} > -\frac{1}{2} .$$

Therefore when *n* is sufficiently large,

$$\frac{A(t_n)}{B(t_n)} > \frac{1}{2} \ .$$

From (45), we have:

$$\lim_{n \to \infty} \frac{A^{\alpha+1}(t_n)}{B^{\alpha}(t_n)} = \infty .$$
(46)

On the other hand using the Holder inequality, we have:

$$A(t_n) = \frac{1}{H(t_n, T)} \int_T^{t_n} \frac{|h(t_n, s)|}{R^{\alpha/(\alpha+1)}(s)} R^{\alpha/(\alpha+1)}(s) H^{\alpha/(\alpha+1)}(t_n, s) W(s) ds$$

$$\leq \left[\frac{1}{H(t_n, T)} \int_T^{t_n} \frac{|h(t_n, s)|^{\alpha+1}}{R^{\alpha}(s)} ds\right]^{1/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, T)} \int_T^{t_n} R(s) H(t_n, s) W^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, s)} H(t_n, s) H^{(\alpha+1)/\alpha}(s) ds\right]^{\alpha/(\alpha+1)} \cdot \left[\frac{1}{H(t_n, s)} H$$

Therefore:

$$A^{(\alpha+1)/\alpha}(t_n) \leq \frac{1}{\alpha} \left[\frac{1}{H(t_n,T)} \int_T^{t_n} \frac{|h(t_n,s)|^{\alpha+1}}{R^{\alpha}(s)} ds\right]^{1/\alpha} \left[\frac{\alpha}{H(t_n,T)} \int_T^{t_n} R(s) H(t_n,s) W^{(\alpha+1)/\alpha}(s) ds\right].$$

Noted that B(t) is defined by the above equation was when *n* is sufficiently large.

$$\frac{A^{(\alpha+1)/\alpha}(t_n)}{B(t_n)} \le \frac{1}{\alpha} \left[\frac{1}{H(t_n,T)} \int_T^{t_n} \frac{|h(t_n,s)|^{\alpha+1}}{R^{\alpha}(s)} ds\right]^{1/\alpha}$$

That is,

$$\frac{A^{\alpha+1}(t_n)}{B^{\alpha}(t_n)} \le \frac{1}{\alpha^{\alpha} H(t_n,T)} \int_{T}^{t_n} \frac{|h(t_n,s)|^{\alpha+1}}{R^{\alpha}(s)} \mathrm{d}s \ .$$
(47)

From (38),

$$\liminf_{t\to\infty}\frac{H(t,s)}{H(t,t_0)}>\eta$$

Then there exists $T_3 > T$, can be used in:

$$\frac{H(t,T)}{H(t,t_0)} \ge \eta, \quad t > T_3.$$

Therefore when *n* is sufficiently large,

$$\frac{H(t_n,T)}{H(t_n,t_0)} \ge \eta \,. \tag{48}$$

From (47) and (48), we get:

$$\frac{A^{\alpha+1}(t_n)}{B^{\alpha}(t_n)} \leq \frac{1}{\alpha^{\alpha} \eta H(t_n, t_0)} \int_{t_0}^{t_n} \left| \frac{h(t_n, s)}{R^{\alpha}(s)} \right|^{\alpha+1} \mathrm{d}s \ . \tag{49}$$

From (46) and (49), we get:

$$\lim_{n \to \infty} \frac{1}{H(t_n, t_0)} \int_{t_0}^{t_n} \frac{|h(t_n, s)|^{\alpha+1}}{R^{\alpha}(s)} \, \mathrm{d}s = \infty \, s$$

Which implies:

$$\limsup_{t \to \infty} \frac{1}{H(t,t_0)} \int_{t_0}^{t} \frac{|h(t,s)|^{\alpha+1}}{R^{\alpha}(s)} \mathrm{d}s = \infty$$

Notice (30), this is contrary to condition (H₁₂). Therefore, our assertion (36) is established. However, by (36) and (33):

$$\int_{T}^{\infty} R(s) \varphi_{+}^{(\alpha+1)/\alpha}(s) \mathrm{d} s \leq \int_{T}^{\infty} R(s) W^{(\alpha+1)/\alpha}(s) \mathrm{d} s < \infty \ .$$

Notice (30), this is contrary to condition (H13). The proof is complete.

Acknowledgements

This work is supported by a grant from the Natural Science Foundation of Shandong Province of China (ZR2011AL001, ZR2013AM003) and Scientific Research Foundation of Binzhou University (BZXYL1006).

References

[1] RP Agarwal, SR Grace, D ORegan. Oscillation Theory for Difference and Differential Equations.

ifference and Differential Equations. Kluwer Academic, Dordrecht, 2000.

- [2] Ch Philos, A new criterion for the oscillatory and asymptotic behavior of delay differential equations, Bull. Acad. Pol. Sci. Ser. Sci. Math. 1981; 39: 367-370.
- [3] RP Agarwal, SR Grace, D ORegan. Oscillation criteria for certain nth order differential equations with deviating arguments. *J. Math. Anal. Appl.* 2001; 262: 601-622.
- [4] O Dosly, A Lomtatidze. Oscillation and nonoscillation criteria for half-linear second order differential equations. *Hiroshima Math. J.* 2006; 36: 203-219.
- [5] R Xu, F Meng. Some new oscillation criteria for second order quasi-linear neutral delay differential equations. Appl. Math. Comput., 2006; 182: 797-803.
- [6] HB Hsu, CC Yeh. Oscillation theorems for second-order half-linear differential equations. Appl. Math. Lett. 1999; 6: 71-77.
- [7] PG Wang, KL Teo, YQ Liu. Oscillation properties for even order neutral equations with distributed deviating arguments. J. Comput. Appl. Math. 2005; 182: 290-303.
- [8] SH Liu, QX Zhang, YH Yu. Oscillation of even order half-linear functional differential equations with damping. Comput. Math. Appl. 2011; 61: 2191-2196.